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The Thevenin’s equivalent voltage is
A The same as the load voltage
B  Equal to the source vollage
C  Equal to the input voltage

D  The open circuit voltage

If in a linear load the resistance increases while the

supply voltage remains constant, we shall register
a(n)

A increase in power

B  decrease in current

C  constant current

D increases in current

The Norton’s equivalent current is the
short circuit current

current through the load
open-current from the source
Open load current
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Which of the following is the current labeled ‘I’ in
figure 1?7
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Figure 1
A 2A
B 1A
’ 13A
D -2A

How many branches are in the circuit of figure
1?

A 9
B 5
C
D 11

Maximum power is transferred to the load

when the

A internal resistance of the voltage source is
equal to the load resistance

B circuit current is very high
C load resistance is equal to zero
D internal resistance is very high
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What is the equivalent resistance of the circuit

7.
in figure 27
! R1
10k
R2 [ R3
E / E 20k ] 20k
10V * /
Figure 2
A 15kQ
B 10KQ
C 20KQ
D 25KQ
8. Which of the following is the value of the
current labeled I in the circuit of figure 2
A  4mA
B 1mA
C 2mA
D 0.5mA
9, If the reactance of a capacitor is 10KQ when an ac
source of frequency 400Hz is applied across it,
what is the capacitance of the capacitor?
A 39.8uF
B  39.8nF
C 3.98nF
D 3.98pF
10. Two capacitors, C1 and C2, are connected in

series and each have capacitance 10pF and
471F respectively. If the charge in C1 is
10mC, what is the charge in C2?

A 41ImC
B S5TmC
C 3TmC
D 10mC

11,

The barrier potential of the diode in figure 3 is
0.6V. The curirqe_x‘xt flowing through R2 is

R0, T
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Figure 3
A  S5mA
B 44mA
C 0.6mA
D

2.2mA
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12,

The current flowing through R1 in the circuit

of figure 3 is
A 22mA
B 44mA
C 06mA
D 5mA
13. Which of the following is the current flowing
through the diode D1 in figure 3?7
A 44mA
B 16mA
C 38mA
D 0A
14. One application of pn junction diode is in
A rectification
B filtering
C  amplification
D Voltage regulation
15. If the input voltage to a half wave rectifier circuit is
12Vmax, what is the average load voltage? Assume
that the diode is ideal.
A 17.63V
B 3.81V
C 423V
D 432V
16. The current flowing through R2 in the circuit
of figure 4 is
R1 12
b S8or
Pz it is ideal
Vz =62V Figum 4
A 3lmA
B 40mA
C 80mA
D 20mA
17. The current flowing through R1 in the circuit
of figure 4 is
A 40mA
B 38mA
C 60mA
D 10mA
18. The current flowing through the zener diode in

the circuit of figure 4 is

A TmA
B OA

C 10mA
D 20mA

19. The power dissipated by the zener diode in the
circuit of figure 4 is
A 2465mW
B 47.5mW
C 434mW
D 1472mW )
20. Which of the following is a device that allow
current to flow only in one direction?
A capcitor
B  inductor
C  Resistor
D diode
21. Which one of the following is a biasing
technique for a bipolar junction transistor?
A Self-bias
B  Gate base
C Base bias
D  Drain feedback bias
22, In a common emitter configuration, the output
voltage is
A 180° out of phase the input voltage
B 90° out of phase the input voltage
C In phase the input voltage
D 270° out of phase the input voltage
23, A transistor operating in the active region has
a base current Ig, of 20pA. if the current gain
is 100, what is the value of the collector
current Ic?
A 0.05mA
B 02mA
C 2A
D 2mA
24, If in a voltage divider bias of an npn bipolar
junction transistor circuit the resistor connected to
Vccis open,
A the transistor goes into cutoff
B the transistor goes into saturation
C the transistor burns out
D the supply voltage is too high
25. The channel of a JFET is between the

gate and drain

drain and source
gate and source
input and output
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26.

A common collector amplifier produces a 32,

voltage gain that is
A zero

B unity

C infinite

D large

27.

Which of the following is a characteristics of
an ideal operational amplifier?

A Zero bandwidth

Unity differential mode gain

Zero input impedance

Zero output impedance

onw

The parameters of the circuit in figure 5 are Vg =

0.6V, B =100, Is = 10pA and Vg = 3V. What i 33.

the collector current in this circuit?
- r——O+Vce =6V

4mA

Another name for a unity gain amplifier is
A Voltage follower

B Differential amplifier

C  Comparator

D Differentiator

34.

If zero volts is applied on both inputs of an
ideal OPAM, what is the output voltage?
A +Vce

B -Vcc
C ov
D CMMR
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28.

The value of the base resistor Rg in the circuit of
figure 5 is

A 300KQ

B 600KQ

C 540KQ

D 600Q

29,

Which of the following is the value of the
collector resistor Rc in the circuit of figure 57

A 3KQ
B 6KQ

2mA 35.
ImA
6mA

What is the voltage gain of the circuit in figure
6?

AN
4 TR
Vin 100k 5
1 R1
41k
—]; = Figure 6 x
A 100,000
B 1000
C 100
D 101

C 8KQ | 36.

D 2KO

30.

The power dissipated by the transistor in figure 5 is
A 2mwW

B 6mW

If Vin =2mV, what is the output voltage
A 200mV

B 202mV
C  2000mV
D  200000mVv

C 3mw 37.

D 4mw

31.

One method of biasing a junction field
transistor is
A Collector feedback bias

B  Self-bias

The 1’s complement of the binary number
01010011 is

A 10101101
B 11001101
C 10101100
D 01001101

C Base bias
D  Emitter bias

00/52551

Go on 1o the next page

- emm—l



38.

39.

The decimal number *+100 express as an 8 bits
number in the 1°g complement form is

A 11010001

B 1001101}

C 10001100

D 10010011

The simplified expression of the Boolean
function F = ped +abc +abe s

A F=bd+bt+ac

B  F=bcd+bz

C F=bp¢

D  F=Cd+ab+be

40.

What logic function is implemented when the
output of a half adder is summed?
A  XOR

B XNOR
C AND
D NAND

41.

Which of the following represents the logic
function of the circuit in figure 77
A —_—

Half Adder

Half subtractor
Half Comparator
Half decoder
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42,

The binary equivalent of the gray code
10001001 Gray is
A (11001101p
B (10101010),
C  (11110001)
D (11110011),

43.

Which logic gate is represented in the circuit
of figure 8?

i Figure 8
A NAND
B AND
C NOR
D OR

44,

A device which serve as a data selector is
called a(n)

A multiplexer

B demultiplexer
C  decoder R
D transcoder

45,

The result of the binary subtraction 100101 —
10111is

A 001110

B 101110
C o11110
D 100011

46.

How many flip flops are required to build a counter
that counts from zero to 117
A 3

B 5
c 2
D 4

47.

What is the frequency at the output put of a
MOD 10 counter if the frequency of the clock
signal is 100KHz?

A 1000KHz

B  100KHz
C 10KHz
D S5KHz

48.

If an asynchronous counter has four flip flops,
what is its MOD number?
A 32

B 16

C 8
D 4

49,

In a JK flip-flop, when J=K=1,the flip-flop is
operating in the

A reset mode

B toggle mode

C setmode

D  counting mode

50.

A flip-flop is capable of storing

A onebit

B eight bits
C four bits

D  sixteen bits
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